Experimental Control
Study Events Total Events Total
Jones RB 2 70 2 70
Han F 1 19 3 2
Random effects model 89 92

Heterogeneity: 12= 0%, t2 =0, p=052

Experimental Control
Study Events Total Events Total
Tuin J 3 4 3 43
Jones RB 1 70 1 70
Random effects model M1 13

Heterogeneity: 12= 0%, 2= 0, p = 0.98

Experimental Control
Study Events Total Events Total
Tuin J 3 4 5 43
Jones RB 2 70 2 70
Han F 1 19 0 22
HuW 0 18 0 17
Random effects model 148 152

Heterogeneity: 12= 0%,12= 0, p=0.61

Risk Ratio  Risk Ratio

—_— 1.00
0.39
0.66
0.1 051 2 10

Risk Ratio  Risk Ratio
: 1.05
. 1.00
1.04

0.1 051 2 10
Risk Ratio  Risk Ratio
e 0.63
—a— 1.00
——f—=—— 346
$ 0.87

0.1 0512 10

95%-Cl
[0.14; 6.90]
[0.04; 3.41]

[0.15; 2.79]

95%-Cl
[0.22; 4.90]
[0.06; 15.67]

[0.27; 3.98]

95%-Cl
[0.16; 2.47]

[0.14; 6.90]
[0.15; 80.19]

[0.31; 2.50]

Weight
(random)

56.0%
44.0%

100.0%

Weight
(random)

76.1%
23.9%

100.0%

Weight
(random)

59.2%
29.6%
11.2%

0.0%

100.0%



